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QUESTION 1

Refer to the exhibit. 

How many servers are seeded in the GAB port membership? 

A. The GAB port membership has two nodes: 01 and 12. 

B. The GAB port membership has three nodes: 0, 1, and 12. 

C. The GAB port membership has three nodes: 0, 1, and 21. 

D. The GAB port membership has four nodes: 0, 1, 21, and 22. 

Correct Answer: D 

 

QUESTION 2

An administrator needs to set up a service group dependency with the following characteristics: 

The parent group depends on the child group being offline on the same system. 

If the child group faults and fails over to a system on which the parent is running, the parent should switch 

to another system. 

Which type of dependency is this? 

A. Offline local 

B. Offline home 

C. Offline remote 

D. Offline parent 
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Correct Answer: A 

 

QUESTION 3

Which roles configuration tab is used to set the custom attributes that a certain role can view or edit? 

A. General tab 

B. Incident Access tab 

C. Policy Management tab 

D. Users tab 

Correct Answer: A 

 

QUESTION 4

What is the default level of authorization of a new VCS user? 

A. Cluster Administrator 

B. Cluster Operator 

C. Cluster Guest 

D. Group Administrator 

E. Group Operator 

Correct Answer: C 

 

QUESTION 5

In the event that all heartbeats are lost on all interfaces, what should be implemented to reduce the likelihood of a split
brain condition? 

A. Configure AutoRestart for LLT 

B. Configure and enable postonline_ipc trigger 

C. Enable SCSI 2 disk reservation 

D. Configure I/O Fencing 

Correct Answer: D 

 

QUESTION 6
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Which attributes impact service group failover? (Choose three.) 

A. FailOver 

B. AutoFailOver 

C. Faulted 

D. FaultPropagation 

E. Frozen 

Correct Answer: BDE 

 

QUESTION 7

Which triggers require additional configuration at the service group level to be enabled? (Choose two.) 

A. PreOnline 

B. PostOnline 

C. PostOffline 

D. ResStateChange 

E. LoadWarning 

Correct Answer: AD 

 

QUESTION 8

The loadwarning trigger has been configured for all cluster systems, and all service groups have been configured for
load. The current load on a system is 135, which is the maximum possible load on a system for this configuration, and
the load has been observed for 10 minutes. The following system attributes have been set for all cluster nodes: 

Capacity = 150 LoadWarningLevel = 80 LoadTimeThreshold = 300 Under which condition will the loadwarning trigger
be invoked? 

A. The trigger will never be invoked. 

B. The trigger will be invoked after 135 seconds. 

C. The trigger will be invoked after 240 seconds. 

D. The trigger will be invoked after 300 seconds. 

Correct Answer: D 

 

QUESTION 9
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What is the effect of configuring the public NIC as a low priority heartbeat link? 

A. Provides more protection from split brain 

B. Enables the heartbeats to be routed 

C. Prevents jeopardy if all private heartbeat links fail 

D. Enables the heartbeats to be used by other clusters 

Correct Answer: A 

 

QUESTION 10

Which component is directly responsible for communicating online configuration changes to all nodes in the cluster? 

A. LLT 

B. IMF 

C. GAB 

D. HAD 

Correct Answer: D 

 

QUESTION 11

Which method would be the most beneficial to protect the cluster when faced with intermittent network issues on the
private heartbeat links? 

A. Implement Quorum resource to protect heartbeat links 

B. Implement a low-pri heartbeat on the public NIC in the configuration 

C. Implement a Steward Process to watch the private heartbeats in the environment 

D. Implement a Virtual Business Service to provide arbitration across cluster nodes 

Correct Answer: B 

 

QUESTION 12

Which type of Veritas Cluster Server service group dependency permits a parent group to be brought online when the
child group is offline? 

A. Offline local 

B. Online local 

C. Online remote 
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D. Offline remote 

Correct Answer: A 

 

QUESTION 13

How many systems in the cluster can the NotifierMngr run on at one time? 

A. 1 

B. 32 

C. 256 

D. An unlimited number 

Correct Answer: A 

 

QUESTION 14

What are two major functions of Low Latency Transport (LLT)? (Select two.) 

A. Cluster communications 

B. Traffic distribution 

C. Cluster membership 

D. Heartbeating 

E. Broadcast message 

Correct Answer: BD 

 

QUESTION 15

You want to create an online local firm group dependency with GroupA as the child of GroupB. How can this
modification be made? 

A. hagrp -link GroupB GroupA online local firm 

B. hagrp -link GroupA GroupB online local firm 

C. hagrp -dep online local firm GroupB GroupA 

D. hagrp -dep online local firm GroupA GroupB 

Correct Answer: A 
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